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Q4  a) A 4 stroke diesel el‘kgme ngkmgatség]'eve] (pressure | bgr an mperature
] L °C§devel0ps : b pGWBr £280 kKW with.a Voimwicemcleﬂcy of 80% at
mlevel oondmonEngme orks at ' §r~Fuelranc“of13‘l, with specific fuel
mmnptlon .efzof;ﬁ%ﬁ- 5 /kW h. The engine runs at 1800rpm. Determine the engine
capacity and the bmep, The Engine is taken to an altitude of 3 km where t
.23°C and 0.715 bar. A mechanic

ambient pressure and temperature are

coupled supercharger is fitted which consumes 12% of the total power deve -. 3
| ing the supercharger is 37°C. Determi'@ or

quired to maint in the same brake power of sea 'vel.’
eat sketch and state | ntages and

of 15 cm and stroke
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